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If he can disgorge it, let him disgorge it — T MTAND XRT ON

OVERVIEW

The X713 is attempting to find a situation where the 7n°» 211 for eating a MORT 127
and the 772°13 271°11 for stealing this 710X 7127 are simultaneous. The X713 suggested a
case where another person stuck this 790K 127 into the 773°227 n°a (the throat) of
the one who eventually swallowed it. However the X713 is not satisfied; if he can
still spew it out, he should spew it out and not eat the MoX7 727. Our NBOIN
explains what the X723 meant with this question.'
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So if he does not spew it out, he is liable for stealing (if he swallowed it and ate
it), for the 70 21°1 for eating it, will not exempt him from paying, since the 21’11

nn°n does not take effect until he swallows it completely. Therefore in this case the
7in°7 211 and PR 21°10 are not simultaneous.

SUMMARY
There seems to be three stages; *N7IR? *¥n (where there is no Nan 2117 yet), %1 KXY
"177KY (where there is a 171 21°17), and >n% ¥22 (at which point there is 0o 21°0).

THINKING IT OVER

When does the Pm>wn 2110 become effective in a case of >N7ARY 912 does it
become effective when he is "17aRY 71°, or does it become effective when it is
already *M77RY 9127 1KY

" Indeed he should spew it out, but in actuality he did not spew it out so therefore it is XD X2 P2wm ann. Our
Moo negates this thought.

% The ymn 2rm is effective from the last moment where he is *W77x? 212° and did not (meaning it came already to a
point where 117782 912° X9, however even then he was not 37 ¥92); the 0 211 is later, when he is 3% ¥92.

3 See "¥n7 X 7"7 N¥2IPH VW,
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